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1 Introduction
In RAN2 #106, it was agreed that network response to msgA (i.e. msgB/msg2) includes, SuccessRAR, FallbackRAR and Backoff Indication. SuccessRAR includes contention resolution identity, C-RNTI and TA command. RRC message can also be optionally included in case of success. FallbackRAR includes RAPID, TC-RNTI, TA command and UL grant.

At least msgB needs to include SuccessRAR and RRC message. Other information can be transmitted via msgB or msg2 depending on further discussions in RAN2. 

gNB may transmit msgB multiple times to enable successful delivery of MsgB. In case of success scenario (i.e. when PRACH and PUSCH both are successfully received), UL grant is not included in MsgB. So unlike Msg2, gNB cannot know based on UL transmission whether MsgB is successfully received or not. So, explicit HARQ feedback can be considered for MsgB.
In this contribution we discuss when and how UE can send HARQ feedback for MsgB.
2 Discussion
One of the following two approaches can be considered for HARQ feedback for MsgB.
Approach 1:
· UE receives MsgB MAC PDU. If both cond 1 and cond 2 are met, UE sends HARQ ACK; Otherwise not.
· Cond 1: The received MsgB MAC PDU includes a MAC subPDU carrying its contention Resolution Identity

· Cond 2: The received MsgB MAC PDU includes only one MAC subPDU carrying contention resolution identity (i.e. there is only one successRAR)

HARQ Feedback Timing: If PDSCH for MsgB ends in slot 'n', UE transmits HARQ ack in slot 'n+K1'. 
· Similar to PDCCH addressed to C-RNTI, for 2 step RACH, PDSCH HARQ Feedback timing indicator can be included in the PDCCH addressed to msgB-RNTI. 
· PDSCH HARQ Feedback timing indicator is an index to an entry in list of values for K1 which is configured by RRC. 
Approach 2:
· UE receives MsgB MAC PDU. If following condition is met, UE sends HARQ ACK; Otherwise not.

· Condition: The received MsgB MAC PDU includes a MAC subPDU carrying its contention Resolution Identity
· if PDSCH for MsgB ends in slot 'n', UE transmits HARQ ack in slot 'n+K1+X as shown in Figure 1.
· K1 is indicated in PDCCH via PDSCH HARQ Feedback timing indicator.
· X is the index of MAC subPDU carrying its contention Resolution Identity
· If there are N MAC subPDUs in MsgB MAC PDU carrying contention Resolution Identity, these are sequentially indexed from zero.
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Figure 1
Approach 1 is simpler and reuses existing HARQ feedback mechanism. Approach 2 requires some additional work to define multiple HARQ feedback opportunities and mapping them to each successRAR in MsgB. So we propose to follow approach 1.

Proposal : Upon receiving MsgB MAC PDU, if both cond 1 and cond 2 are met, UE sends HARQ ACK; Otherwise not.

· Cond 1: The received MsgB MAC PDU includes a MAC subPDU carrying its contention Resolution Identity

· Cond 2: The received MsgB MAC PDU includes only one MAC subPDU carrying contention resolution identity (i.e. there is only one successRAR)

3 Conclusion

Based on the above, RAN2 is requested to discuss and agree on the following proposals:
Proposal : Upon receiving MsgB MAC PDU, if both cond 1 and cond 2 are met, UE sends HARQ ACK; Otherwise not.

· Cond 1: The received MsgB MAC PDU includes a MAC subPDU carrying its contention Resolution Identity

· Cond 2: The received MsgB MAC PDU includes only one MAC subPDU carrying contention resolution identity (i.e. there is only one successRAR)
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